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Directions ;

In the following Three
with one term missin
from the given ones ¢

questions, a series is giver
2. Chovse the correct alternativ
hat will complete the series,

ﬁ'&w:f#mﬁf&nm‘##mrm&m!
WW%W?=MWMmJ#na?a%
ﬁmgﬁva‘rmﬂt{nﬂl

6 EZFYXG
(A WG (M GwW
(C) HW (D) WH

7. 1,16, 81,256,625, 7
(A) 4163 (B) 2225

(C) 1225 (1) 1296

8 1,513,25.41,61, ?

(A) 81 (B) 91

(C) 85 (D) 77

Directions :
In the following Nine questions, select the re
word letters/number from the given alternatives.

oy : Tsfataa 9 gt #. fZr v fawel

FralrUd e/ 3R HEar #1 giAv
9. 4:36:: _? :49

(A)3 (B)7

(C)6 (D)8

10. CEIM:DGLQ::FGIO: 7
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(A) GILg

(©) GlLis

(D) Gmg)

11, - i
Heart : Cardlnlngisl ! Brain. o

m:mthrﬁam;;nfﬁ;;‘. 9
(A) Ncphrolngist T
T W Rarsrey
(B) Ncurologist
AT Ry
(O) Ophlhalmologisl
CER)

o

(D) Gynaecologis

T Ry

12. GFEH - RQPS::LkIM: »

(A) ONMP ?,;;LKNM

(©) vuwx (D) IHJG

13. HUK : GFED : : NOPQ: ?

—

(A) EFGH (B) BCDE

(C) FDEC (D) MLKJ

14. 235:587::435: _?_

(A) 788 (B) 988
(C) 789 (D) 989
15. Car: Garrage:: _ :Hangar
FR A 7 faAeEr
(A) l;:; (B) mﬁm
(C) 1;::]; (D) %
2

16, 17:102::23;7 _:_

(A) 413 (B) 216

(©) 112 (D) 138

17. Govemnor : State : : President @ ,:_.
TSI - U gl N»
(A) Country (B) District
Al

(C) Constituency
faa-ar

(D) Organisation
IS

Directions : . arrange the
In the following Three qucsﬂonlsv. nary-g
following words as per order in the dictio [ &

Préar - Sr=Tfatee 3 wast 3 qreal #1 WEPR
ﬁvmma}a‘aﬁm—\rﬁn&:

18. 1. Intervention 2. Intertwine
3. Interview 4, Intervene

(A)4,3,2, 1 (B)2,3,4,1

(C)2,4,1,3 (D)3,4,1,2

19. 1. Smoulder 2. Smother
3. Smuggle 4. Smudge

(A)2,1,4,3 (B)4,3,2,1

(C) 1,4,3,2 (D)1,2,3,4

20. 1. Plate 2. Plane
3. Plaster 4. Plasma

5. Plastic
(A)1,2,3,4,5 (B)2,5,3,4,1
(C)2,1,5,3,4 (D) 2,4,3, 5,1

Directions :

In the following Twao questions, which one set of
letters when sequentially placed at the £4ps in the
given letter series shall complete jt?

ﬁh:ﬁmﬁ‘r@azma‘iﬁmwmm
Wmmmmﬂm#aﬂg
R AW &Y R FHm?
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i f paper 18 folded and punchits
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Question figures:
et HHTeal:

SN[
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Answer Figures:

Directions :
In the following Nine questions, find out the odd

word/letters/number/ number pair from the given
alternatives.

s : AT 9 qeat F, R aw Recai 7 §

fara Qree/ 3BT/ HEN /e oA 9T :

Find out the odd pair,

favd g7 A Fr gfAv:

(A) Brush-Paint / ®2— (B) Pen-Ink / 957-=dy
T

(C) Crayon-Chart / R - e

24.

_Lcad/ﬁa—ﬁg

(D) Ppencil
25, Find out the odd word.
fwH T4 Eal
(A) HAMAM / EF1H (B) CINTHOL / S
(C) PEARS / ¥ (D) RIN / sy
26. Find out the odd letters.
Ry BT 1 g
(C) CAP (D) PET
27. Find out the odd letters.
e 37EN Hr g‘ﬁ-’fﬂ' :
(A) STUA (B) MLKA
(©) HGFA (D) RQPA
»8. Find out the odd number pair.
fwa GEAT H I I
(A)57-75 ®)12-21

29, Find out the odd word.
faweT 21eg, I aﬁfcra :

(A) Crane §RH (B) Kingfisher @ifgeel

(C) Humming bird 7&K (D) Sparrow AT

qefl
30. Find out the odd number.
faws dEr i g :
(A) 368127 (B) 564327
(C) 742956 (D) 876321

31. Find out the odd letters.

0896
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ﬁi‘mm I gﬁr’w:
(A) ADG]) (B) IMQU
(C) wzcr (D) LORU

32. Find out the odd number pair.
R et e oy g

(A4) (24, 96) (B) (61, 244)

(©) (54,216) (D) (27, 135)

Directions :

In the following Two questions, unscramble the
letters to form a meaningful word. Then find out the
correct numerical position of the letters,

i : Pt 2 wett 3 weies vz ey 3
ﬁ-‘fKr IR N AT | o et B o

m%qaﬁmﬁuf?rmmm
33.NITIFEIN

24543642

(A)24324256 (B)32535246

(€)3243524¢ (D)42342456
3. HNRCAB

12345%6

(A)356412 (B)635241

(€©)653412 D)415623

35. A word is represented by only one set of numbers as
given in any one of the alternatives. The sets of
numbers given in the alternatives are represented by
two classes of alphabets as in two matrices given
below. The columns and rows of Matrix 1 are
numbered from 0 to 4 and that of Matrix II are
numbered from 5 to 9. A letter from these matrices
can be represented first by its row and next by its
column, e.g., M can be represented by 01, 10 etc.,
and A can be represented by 56, 65 etc. Similarly,
you have to identify the set for the word ROD.

U UG el U HEAI-Hg GanT axiam r §,
Str for fasedt # & forell v & Rar w3

méaﬁmmmg'sﬁ ¢
f&w 2reg ROD *ﬁvﬂﬁ?ﬂﬁmﬂm

fatrix - P

Matrix - I ety

aeE -1
o]1]2
04 MW
NEE
w|s

S{Q]1
QI

(A) 56, 66, 86

O 4
=

e

w]
Z|7 o]

22z~ |o|n |

Al ]~

(C) 58, 69, 65

. m in the
36. Which answer figure will complete the pane

question figure?
et W Seere IR ST Jpy 6 weed A1 T
Hi?

Question figure:
Litat :

?

Answer Figures:
3o T -
(A)

©[ ] (D)
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40. ldentify the answer figure from which pieces given
in the question figure have been cut.

TF Il AT T o vy v afa
AR E D 1

Question figure:
\tial :

CK\D

Answer Figurcs:

Tl
(A) (B) /b
© | (D) '

41. Find out the incorrect term in the series.

eiamﬁmaqzmaﬁﬁﬂrl
2.5,10,3,6,18,4,7,30

(A) 6 (B) 30

(©) 10 (D)7

42. In the question, two statements are given followed

by two conclusions 1 and II. You have to consider
the two statements to be true even if they seem to be
at variance from commonly known facts. You have
to decide which of the given conclusions, if any,
follow from the given statements.

Statements I : Creative persons are learned people.
11 : Some doctors are creative persons.
Conclusions I : Some creative persons are learned

people.
11 : Some learned people are doctors.

et 3 & e o aTe e 3 fard |
3R 11 FovapreY 97T & | TR Hietedl & 3 et §cd
¥ o1 4 G T e & e Sl e |
SRy oyt e & R frw aTe fovsaet A & @A
et & FRRee & & et g e e
m?fﬂﬁﬁ,uﬁ;aﬂégﬂ
ml:mwﬁaﬁ@mwﬁaaﬁg,
11 : 305 Siere FoTeaid S et € |
fored 1 : 5 Goea AT faea st
B g |
11 : e Rt safere ST A © |
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(A) T
(B) Neither Inor 17 @Y1 IaTd N
©1 D)1&II

43. In the question, two statements are given. You have
to answer considering the statemen

if they seem to be at varjance
known facts.

Statements I : Plants grow from seeds.
II : Seeds are produced by flowers.

e F &Y T A 10 | 37y e a7w et &y
H HAHT A & T T F et el 21y
I &R |
FUT: TS A I E
11 : 15T Fell § 3T g & |
Conclusion / forss§ ;

(A)

ts to be true, even
from commonly

Seeds are produced by plants. s dieff a
3T BT & |

Flowers and seeds are produced by plants. ger
AR & gl & 3T B |

Plants grow from flowers. Gty qoeif & Zery ¥ |

Flowers are produced by plants. Tl Oiet &
SAeA BT & |

(B)

©
(D)

44. Raghu jogged 2 km southwards, then he turned right
and walked 5 km. He again turned right and walked
and jogged 8 km. In which direction was he seen
moving last?

g & 2 km gfRyor fewm # gls oemé da 9 @’
HZHT 5 km e | &5 T A ¢ 3 T AR 8
km glg o@TE | 37 & ag Rrg R # Toar @S
feam

(A) West / qfeas (B) South / gf&yor

(C) East / @ (D) North / 31X

45. If in a certain code ONE is coded as 231, FIVE is
coded as 9641, then how will be NINE coded?

Ifer T 12 7 ONE & 231 fo@r S &, FIVE

STaaT?
(A) 3613 (B) 3361
(C) 3631 (D) 3316

46. Select the set of symbols which can be fitted
correctly in the equation,

W gt &1 Fg Yo s aeientor 3 wer five
e o E& |

5 3 8 4 2=2]
(A) ) X, +r = (B) x ] +I ] i
(C) +| Xa ] £2 (D) +y X’ +l £l

47. Identify the diagram that best represents the
relationship among classes given below:
Library, Books, Racks

ag INW YT St AT e a1w @@t & dra Fau &
e g A g
TEIRT, T, 36

) . ; .
© OO0 3 @

48. IfPNLJ : 2468, then QOKL: ?

afg PNLY : 2468, AT QOKL: _?

(A) 3591 (B) 1276

(C) 1376 (D) 1367

49. Five students are standing one behind the other in the
playground facing the instructor. Malini is behind
Anjana, but in front of Gayathri. Meena is in front of
Shena, but behind Gayathri. What is the position of
Meena?

i B e A1 AR g W T gl & I
ﬂm#a%gu%lmﬁsﬁ,mé:%%m
AT & HET Y | A, AT F 3 & AR Iy

FY 9641 far@T omar & @ NINE & &3 forar
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FAF Y | Aer i T Fr
(A) Second from last

ifaa & gar
(B) Second from first
agel A gEd
(C) Extreme first (D) Extreme last

50. If a means +, b means X , ¢ means + , d means —
then 20a10b45¢5d12 = ? ’

A a T HT+E, DRI <, cHF T+ &, dar
3{2?-3‘,?—[’[‘20310b45c5d12=?

(A) 88 (B) 98

©7 (D) 68

Jo 1o X ST 5-IT

: 40
g 1§07 AT

A% L2
&od\'ﬁo 4‘

\ -
4

—
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PART-1I : ENGLI i
LISH LANGUAGE Did the Earth always (i) as it does today ? No, (ii) its

o — Ofl'gm fflbﬁut 4.8 billio.n years ago, our planet has (jii)
In the following F _ a lot of changes. The initial ball of fire (iv) down and

ing Four Questions, a sentence/a part the surface slowly (v} solid. Today we (vi) that the
of the Sentence is underlined. Below are given Earth's crust is divided (vii) several plates, (viii)
?ltematlves to the underlined part which may move continuously. Entire continents (Li_i be:;n
improve the sentence. Choose the correct displaced and mountains, islands (x) new seas have
alternative. In case no improvement is needed been formed or have disappeared.

placken the ‘ c:lrcle [®] corresponding to ““No | 5. (viii)
improvement " in the Answer Sheet .

51. There were times in his life when he strupgled for (A) whom (B) who
one square meal a day.
(A) he struggled one day for food. () whieh (D) whose
(B) he keeps struggling for meals.
(C) he struggled with one square meal a day. 56. (vi)
(D) No improvement (A) have known (B) know
52. Let you and I go together. (C) knew (D) had known
(A) No improvement (B) my
(C) mine (D) me o 4]
(A) looks (B) look
53. Each and everyone of you are guilty of some crime (C) looked (D) looking
or the other.
(A) Everyone are guilty
) 58. (x)
(B) Each and each of you are guilty
; (A)or (B) but
(C) No improvement
(D) Each and everyone of you is guilty (C) so (D) and
54. He summarily dismissed what his son told him in a
fit of rage. 59. (vii)
(A) In a fit of rage he summarily dismissed what his (A) on (B) to
son told him.
(B) No improvement (C) into (D) in

(C) He summarily dismissed in a fit of rage what his
son told him.

(D) What his son told in a fit of rage he summarily | 60. (iii)
dismissed. (A) undergone (B) undergo

Directions : ) (C) underwent (D) undergoes
In the following Ten Questions given below in the

following passage, some of the words have been left

out. Read the passage carefully and choose the
: 61. (v)

correct answer to each question out of the four -

alternatives and fill in the blanks by blackening the (A) turned (B) tuming

appropriate circle [®] in the Answer Sheet.

(C) has turned (D) turn

9 Test Form No. 1



62. (iv)

(A) cools (B) cooling

(C) cooled (D) cool
63. (ii)

(A) from (B) after

(C) since (D) before
64. (ix)

(A) has (B) are

(C) have (D) had

Directions :

In the following Four Questions, out of the four
alternatives, choose the one which can be substituted
for the given words/sentences and indicate it by
blackening the appropriate circle [®] in the Answer

Sheet.

65. One who sells articles at public sales,
(A) juggler (B) milliner
(C) auctioneer (D) teller

66. A partner in crime
(A) accomplice (B) helper
(C) assistant (D) alibi

67. A general act of forgiveness or pardon.
(A) emancipation (B) amnesty

(C) benediction (D) gratification

68. A place where arms and weapons are stored,

(A) kiln (B) granary

(C) arsenal - (D) tannery

10

(C) are growing well,

(A) No error

Directions :

In the following Four Questions,
opposite in meaning to the given w
the Answer Sheet.

choose the Word
ord and mark |t il]

69. Mammoth

(A) Stupendous (B) Monumenta|
(C) Prodigious (D) Minute
70. Cautious
(A) Watchful (B) Alert
(C) Careless (D) Thoughtful
71. Abhor
(A) Miss (B) Mad
(C) Love (D) Hate
72. Dubious
(A) Assured (B) Double
(C) Easy (D) Demise

Directions :

In the following Four Questions, some parts of the
sentences have errors and some are correct. Find out
which part of a sentence has an error and blacken the
circle [®] corresponding to the appropriate correct
option. If a sentence is free from error, blacken the

circle [®] corresponding to "No Error" in the
Answer Sheet.

73. The flower and the vine are growing well.
(A) No error

(B) The flower

(D) and the vine

74. Forty minutes later James return to his family

bearing an important piece of news.
(B) Forty minutes later

(C) bearing an important piece of news.

Test Form No. 1089653



(D) James return to his family

75. Tutankhamun’s death mask is still untarnished after
thirty four centuries.

(A) Tutankhamun's death mask
(B) after thirty four centuries.

(C) is still untarnished (D) No error

76. 1 jumped with the opportunity of going to Kashmir.
(A) No error (B) I jumped

(C) of going to Kashmir. (D) with the opportunity

Directions :

In the following Four Questions, the 1 * and the last

part of a sentence are numbered 1 and 6. The rest of

the sentence is split into four parts and named P, Q,

R and S. These four parts are not given in their

proper order. Read the sentence and find out which

of the four combinations is correct. Then find the

correct answer and indicate it in the Answer Sheet.
77. 1. A social network is

P. provides a clear way of analyzing

Q. a set of actors and the

R. a social structure made up of

S. dyadic ties between these actors

6. the structure of whole social entities.

(A) RQSP (B) SPRQ

(C) PQRS (D) QSPR

78. 1. Some people seem to imagine
P. and that when you have filled it with anything
Q. and it becomes as empty
R. that the human mind is like a bottle
S. you pour it out again
6. as it was before

(A) PQRS (B) PRSQ

(C) RPSQ (D) RSPQ

79. 1. The pilgrimage to Mecca
P. giving alms
Q. recognizing Allah as the only God .
R. is one of the five religious duties of each Muslim
S. along with praying five times a day

6. and fasting four weeks once a year.

(A) RQPS (B) SQRP

(C) SPQR (D) RSQP

80. 1. England’s Cath Webb

P. with her resolution

Q. to make a sponge cake every day for a year
R. hit the headlines in January

S. and give it to a friend, family member or stranger
6. just to make them smile.

(A) SPRQ (B) RQSP
(C) SRPQ (D) RPQS
Directions :

In the following Four Questions, sentences are given
with blanks to be filled in with an appropriate
word(s). Four alternatives are suggested for each
question. Choose the correct alternative out of the
four and indicate it by blackening the appropriate
circle [®] in the Answer Sheet.

81. 1 have no riches.
(A) desire to (B) desire for
(C) desirous of (D) desire of
82. A warm reception was him.
(A) given for (B) allied to
(C) allotted to (D) accorded to
83. The doctor the woman that her son would
recover.
(A) assumed (B) assured
(C) ensured (D) insured
84. He is only an director in the organization but
he does his work sincerely.
(A) honour (B) honorific
(C) honorary (D) honourable

1"
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Directions &
In the following Two Questions, a sentence has been
given in Direct/Indirect Speech. Out of the four
alternatives suggested, sclect the one which best
expresses the same sentence in Indirect/Direct
Speech and mark your answer in the Answer Sheet.
§5. The maid confessed to the police that it was she who
had taken the diamond ring.
(A) The maid said, "I have stolen the diamond ring."
(B) The police were told, "I have taken the diamond
ring."
The maid told the police, "It is I who have taken
the diamond ring."
The maid said, "It is I who took the diamond

©

(D)

ring."

86. My father said to me, "Go now".
(A) My father ordered to go now.
(B) My father ordered me to go then.
(C) My father ordered me to go now.
(D) My father ordered me to go later.

Directions :

In the following Four Questions, out of the four
alternatives, choose the one which best expresses the
meaning of the given word and mark it in the

Answer Sheet.

87. Malady

(A) Lady (B) Parody

(C) Disease (D) Melody
88. Luxuriant

(A) Lovely (B) Lush

(C) Class (D) Luxurious
89. Despair

(A) Distress (B) Hopeless

(C) Disrupt (D) Discourage
90. Languid

(A) Luxurious (B) Lively

(C) Lethargic (D) Spirited

Directions :

In the following Four Questions, four words ar
given in each question, out of which only one wo,g
is correctly spelt. Find the correctly spelt word an¢
mark your answer in the Answer Sheet,

91. Find the correctly spelt word :
(A) Diminutiv (B) Diminutive

(C) Dimenutive (D) Diminuitive

92. Find the correctly spelt word :

(A) Bougenvillea (B) Bouganvella

(C) Bougainvilla (D) Bougainvillea

93. Find the correctly spelt word :
(A) Occurrence (B) Occurrance

(C) Occurance (D) Ocurrance

94, Find the correctly spelt word :
(A) Courteus (B) Courtious

(C) Courteous (D) Courtoeus

Directions :

In the following Four Questions, four alterna
are given for the Idiom\Phrase underlined. Ch
the alternative which best expresses the meanir
the Idiom\Phrase and mark it in the Answer She

95. A Wild Goose Chase

(A) a baseless effort (B) a desperate effor

(C) a good effort (D) a useless effort

96. To eat humble pie.
(A) tohave a low estimate of oneself
(B) to pretend to be humble
(C) to act apologetically

(D) tostarve

12
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97. Men like Vidyasagar and Bhagat Singh are the salt
of the carth.

(A) famous men (B) ideal men

(C) hardworking men (D) makers of the earth

98. There was a definite element of fabrication in the
story, but he believed the account hook, line and

sinker.
(A) not wholly (B) hardly
(C) completely (D) a little bit

Directions :

In the following Two Questions, a sentence has been
given in Active/Passive Voice. Out of the four
alternatives suggested, select the one which best
expresses the same sentence in Passive/Active Voice
and mark your answer in the Answer Sheet.

99. Was the question answered?
(A) Were they answering the question?
(B) Did the question get answered?
(C) Was the answer to the question given?

(D) Did they answer the question?

100. He may have left a message for me.
(A) A message may have been left for me.
(B) He might have left a message for me.
(C) A message might be left for me by him.
(D) A message may have been left for me by him.

13
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PART-111 : QUANTITATIVE APTITUDE (HTT-111
. gEaTeA® HHe

Directions :
Read it carcfully and answer Five questions.

Total cost of production of a firm is ¥ 250 lakh.
Following pic—chart shows the percentage of costs
of production in different purposes.

Letters A, B, C, D represent the following :

A = Cost of raw materials

B = Cost of packing materials

C = Cost of labour

D = Maintenance cost

forder : 3 AEYES U¢ HR U T 5 wet F

Fer &l
UF G F I A Fe AR T 250 o ¥

ffaf@a o 9 #§ e v &
IcTee ST T SirRraar g S ¥
3BT A,B,C,D fafof@a & Refa sd g :
A = Fed ATH I AT
B = §fefar Aot ST AT
C = & &I AR
D = 31T&TOT AT
40%
A

"m

If the cost of production doubles in a period of 3
years, then the corresponding maintenance cost in

rupees will be

afg 3 aut & Iearest eeTd el g1 S &,

maﬂrﬁwmmﬁmaﬁ?
(A) 275 1akh /75 ar@ (B) 225 lakh /325 A1@

101.

(D)%125 lakh / %125
g

(C) ¥12.5 lakh / %12.5
o

102. Cost of packing materials and raw materials

together amounts to

AfeFar ATl 3R Fed AT Y Fel AR T

et &7
(A)R175 lakh / %175

(B)%137.5 lakh / ¥137.5

@ Frg
(C)R7.5 lakh / X875 (D)RI62S lakh / 2655
Cires i '

103. If the production increases to five times of th
present cost, then the percentage increase of the
cost is v

A FeATEA TAHA SFTA T U1 I 9 T s,
ar s gfe fr aferear g
(A) 400% (B) 50%

(C) 300% (D) 500%

104. If the total maintenance cost increases from %125
lakh to T50 lakh, then the percentage increase of the
maintenance cost is

afe Fer ITRETOT AT X12.5 AW A TG 350
@ g STl 8l 3ReTT R H giy §
gferRIcd &

(A) 75% (B) 300%

(C) 25% (D) 400%

105. If the packing cost increases by 2%, then the n
packing cost will be

i AT AeTT 2% d¢ SN B, o A U
AR Tehctell BI1efr?

(A) 25 lakh/Z5 oI (B)363.75  lakh/6:
ie|

(C)T 125 1akhR125 (D)T62.5  lakhR
Iec) S ircl

106. One-fifth of half of a number is 20. Then 20
that number is

ol W&AT & 3T T digdr fgear 20 §l ¢

TEATH120% §
(A) 40 (B) 80
(C) 60 (D) 20

Directions :
Study the following histogram and answer t!
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questions.
& : Tty R

A

—_
e

—

No.ol‘SImlr_nts
farenfaat

o W

s &

0 102030 40 50 60 70 80 90 100

00
Marks Obtained
WA 3w

107. The percentage of students secy

50 7% ring marks less than
50 H FH HF ST Iy ary faeanf¥i=t &
Afcrerere § -

A) 4
(A) 28—% (B) 272%
i *
< .13 D
QJE% i 472"

108. The no. of students securing marks in the range 90
—100 is
90 —100 & €T 37 Toe et ATy ezt
q&E

(A) 40 (B) 30
(C) 20 (D) 10

109. The range of marks obtained by maximum no. of
students is

A s A 8?

(A) 50 —60 (B) 60 —70

(C) 80 —90 (D) 30 —40

110. The total no. of students on whom this survey was
made is

FERTOT Ry T 2
(A) 190 (B) 210
(C) 200 (D) 220

<< equal 10
111. A discount series of 10%, 20% and 40% is €4
a single discount of

10%,20%311;40%@[@@%@@?&3
& TR E?

(A) 50% (B) 60%

(C) 60.28% (D) 56.8%

) is

112, AB is a diameter of a circle having c'entrc at O'PI(,)A
a point on the circumference of the circle. If £
=120°, then measure of 2 PBO is

Aawqaﬂwmg,ﬁwéﬁo%ll’ﬁaﬁ
aRftr o we fig 1 afy 2 POA = 120° & A £

PBO®HI AT E
(A) 70° (B) 60°
(C) 68° (D) 75°

113. Average age of seven persons in a group is 30
years, the average age of five persons of this group

is 31 years. What is the average age of the other
two persons in the group?

W@ﬁﬂﬁﬁﬁﬁéﬂﬂﬁmmﬁﬁ
30 39 & i safFaat $ alvea amg 31 v 7l
IO & 31 ) i i 3 3y fraeh &2

(A) 26 years / 26 9§ (B) 55 years / 55 a¥

(C) None of these / 3773 ¥ T &T
(D) 15years/15ay

114. The LCM of two numbers is 12 times their HCF

The sum of the HCF and LCM is 403. If one of the
number is 93, then the other is

o AR F THTH FANTS TN Fgeasy
HHIA F1 12 I &1 FHEeer TN i

mﬁ@rﬁﬁaﬁrgﬁrdwﬁﬁﬁr%ﬁﬂﬂﬁ

15

e H FATIECY &1 T 403 gmﬁm%m
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93 &, o G HEar
A 120 (B) 124
(

D) 112
() 116 D)

.o mixture of copper and aluminium, 30% is

5. In2 48 How much aluminium powder slmyld be

°§§§§r'w the mixture so that the proportion of
:opper becomes 20%?

e & 2 fop.am. fAsoT 7 30% afar
it 3R TR
%) @ er # e wfAfaas 9ISt A

e AT TR T O ciier T ATt 20% &Y
Sme?
(A) 1000 gms / ATH (B) 800 gms / ITH

(C) 900 gms / JATH (D) 1200 gms / I

i hs income in four
man spends his three m_ont :
. gonths time. If his monthly income is ¥1,000, then
his annual savings is

oF =gfad 9T il Helel T HTT &I I JAgey
F@dararg| afe Fahr Arfls 3 71,000 B, &r
I afSs gad g

(A) 29,000 (B) 24,000

(C) 6,000 (D) 3,000

117. If the angles of a triangle are in the ratio 2 =3 :_S,
then the measure of the least angle of the triangle is

e O BT F HIOT2: 31 5 F 30qT F E, o

a7t & Srgctat hIoT T AT &
(4) 90° (B) 36°
(€) 20° (D) 18°

118. A man rows to a place 60 km distant and back in 13
hours 30 minutes. He finds that he can row 5 km
with the stream in the same time as he can row 4
km against the stream. Find the rate of the stream.

U St 60 R, & gff o AT TAHT ST
G313 e 30 fAiere 2 arawr aimen §1 g e &

16

% a8 ware & vy sa w5 Ry

& e womr 3% a5 e varg ot 4
€ WaTE i Ay 7 5

(A) 8 kmvhr 8 5.8, 9y deg
B) 10 knvhr 10 .38, 57y ger
(© % knvhr ¥ R0, wfY gy
(®) 1 km/hr 1 538, 4Ry g

. S ey

119. 15 men can finish a w
takes 24 women to fi
and 8 women undert
they will take

TF FTEFN 1S T 20 Rt F o1 7w &
mmmﬂuwzom#wm
€110 0% 31 8 AR 337 e 0 o Rt o
R HE

(A) 10 days / 10 oy

ork in 20 days, however it
nish it in 20 days. If 10 men
ake to complete the work, then

(B) 30 days / 30 feey

(©) 20 days / 20 oy (D) 15 days / 15 oy

120. BE, CF are the two medians of A ABC and G is

their point of intersection. EF cuts AG at O. Ratio
of AO: OG is equal to

A ABC & & Atz BE, CF ¥ 3R G =%
qfata-qa:rﬁ-gm EF O @Y AG &I &ied |
T AO : OG e aRTe &2

(A)2:3 (B)1:3
0)3:1 (D)1:2
= If a+1—=-1__then the value of
a

(1-a+a®)(1+a—ad)is

afe a-i-l =-1g, & (1-a+ad)l+a-a)&
a

AT
A)l (B) —4
©0 (D)4
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122. The weight of a cont

: afd
. alner completel ; 4 %-ﬁ'
water is 2.25 kg. The container “-cc?;;tg"(c]d_’ _;'w;;h ¥ 3 e & e ur A o & &
when its 0.2 part is filled with water, The weinl ' B wer ¥ aF # 7 ¥ 15 .
kg) of the container when 0.4 part of it is [l E:I\ (_ln HW
water, is Hied with e gRg A T HEm?
S T T A9 225 . %) i 1 hour 25 lmin
m%o.zmﬁmmmwmmo.w 1 .
AT, &1 913 & 0.4 891 3 51 317 2y w1 3y | 625 e
Tt Rraet R, g 13
B =
(A) 0.74 (B) 0.40 ® 1 hour 26 1L min.
(© 1.14 (D) 1.88 1 ©eT 26 :—ﬂfhaz
3
© { hour 24 T ..
123. The time required for a sum of money to amount to o Emm-
four times itself at 15% simple interest p.a. will be ’ 7
T IR 15% Sidtad & Tremor sarer o1 fresy el Eiim
FAY H IR T[T 8l S0 (D) -
1 hour27 — min.
(A) 15 years / a§ (B) 30 years / a§ 13
2 7
192127 — @=e
(C) 20 years / a§ (D) 10 years / g 13
127. Which one of the following is true ?
124. ABC is a triangle in which 2 A = 90° . Let P be any ETRE S AT T 87
point on side AC. If BC = 10 cm, AC = 8 cm and 05
BP =9 cm, then AP = A 7 l i 3 (B 2 {16
ABC U TR § BT 2 A =90 g, iR | ) 247378 12 ) 53

Acsiarqtpm\'éﬁgamﬁaﬁmcm,mq
em AXBP=9cm ¥, AT AP =

(A) 2.fzcm

© 33cm

(B)

F4j5 cm

(D)

2./5¢cm

125. The value of sec* A(l—sin®A) - 2tan® A'is
sec’ A(l—sin® A) - 2tan” A F AR
(A) 0 (B)1

(©)2 (D) 2

126. A man rows 12 km in 5 hours against the_ stream,
the speed of current being 4 kmph. What time will
be taken by him to row 15 km with the stream?

e cafd i g 3 A § 12 faA fr gl s

17

05<—<—<
3 4

\ 25

©1 2 3_4 (D) T % 3

S L=

2737373 0>[77373
128. If x=asec@+btanpandy=atan® +bsecO (a#

b), then the value of f;}_‘_ is
a~ -b”
afgx=asecO+btan Ry =atan® +bsec O

@ibEar XY mamy

P s
(A) 1 (B)2
© ) 1

2

(o

129. A vendor purchased 40 dozen bananas for 2
Out of these 30 bananas were rotten and could

be sold. At what rate per dozen should he se)|
remaining bananas to make a profit of 209
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Rl oY 40 ESTeT &Y 2250 F WY | 3o @y
fﬁaggﬁaﬂrﬁamaﬁmm!wm

3t 1 9 &oiet o &R O 9o e Ry
- (B) 38
— (D) %12

’ sited a sum of money with a bank on 1
130. :\Wm:af;P;OlZ at 8% simple intetl'hest per annum.
Janceiv; d an amount ¥3,144 on 7 August, 2012,

b o i et i e bl

Rfaee A T URINRY | SeiadT, 2012 & &5 3
s%aﬁmaﬁmmﬁa#%rﬁ,m
23,144 &7 YRR 7 31T, 2012 Y &% F gy
g5 38 fohctetl TerRY des 3 e iy o

(A) 22,500 (B) 33,000

(C) 73,100 (D) 3,080

131. Base of a prism of height 10 cm is square. Total

surface area of the prism is 192 sq. cm. The volume
of the prism is

10 8. 3915 a1 RIoA &1 3R qefieR & |
fIs# &1 o7 Ys8rT arawer 192 &t dad &
Rea & amaaT g

(A) 90 o3 B) 120 (3

(©) 160 g3 (D) 640 opy3

132, ABCD is a cyclic quadrilateral, AB is the diameter

of the circle, If ~ ACD = 50°, the measure of ~
BAD is

ABCD T T8fr ¥, AB gect ar ey & af £
ACD=50°%, dr . BAD Fr oy 3

(A) 50° (B) 130°
(C) 140° (D) 40°
133 1f x = g

» then the value of the expression

18

X" =2 +—is
-
AEx=5% o x? g, 1
*;rﬂ'vaH%
(A) _?:-i (B) 625
25 24
(©) 576 (D) 24
25 5
134. The radi of a sphere d
S p and a right circular Cyllilt:jm
curved surface area of the cylinder P
(Assume R__:_:-;-:
U e 3R o TR e 1 sy 3 0y
gl ﬁmmw%ﬂhwaﬁ;m
BT Reerar
TS =223
7
A
Nt Benlt Pl T
n F
C - D 3 3
©0 :;—cmz s 3o
7

135, The average marks of 14 students was 71. Tt was
later found that the marks of one of the students has
been wrongly entered as 42 instead of 56 ang of

another as 74 instead of 32, What is the correct
average?

14 et & 3tvee 3 71 ¥ 91 #F 7% yry
wﬁawﬁa@aﬁﬁaﬁﬁmﬂsﬁm
w42ﬁwﬁmm3ﬁmmﬁm&ﬁ$m

T 32 F T g3 74 fore = amm =y st
FTR?

(A) 68 (B) 67

©71 (D) 69

136. (5. vHF - y5Yis equal to
(o +y5) - y6) e s & 2
() 464 12 (B) (§_.1
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©) . ),36

(D) x9+y35
137. Simplify
— /00623 T’J0.00S +4/0.09 —
V625333
() 1.2 (D)
5

138. A low land, 48 m long and 31 5
6.5 dm. For this, earth ; m broa

IS removeq from a cuboig
hole, 27 m long and 182 m broad, dug by theosli:c:

of the land. The depth of the hole wil] be
T 48 A T 3y 315 . G o sy

6.5 dm.hmma|mmmm®
& R ﬁm‘r&mz‘fﬁr.mmt 18.2 #r.

d is raised to

TR e & Prar s 3, R fir e
fahcetr grafr?
(A)2m (B)2.5m
(C)22m (D)3 m
139. The value of

(cos0° +sin 45° +5in 309
(sin 90° —cos 45 +cos60%) is
(cos0° +sin 457 +sin 30%)
(sin 90° —cos 45" +cos60°) FT AT &

(A) 5/4 (B) 3/4

(C) 312 (D) 7/4

140. A can do half of a piece of work in 1 day,_whereas
B can do full. B can do half the work as Cin 1 day.
The ratio of their efficiencies of work is

A fFeh F & uE T & T T B,
S B U e 3 30 QU F1 & ¢ Tehell §1 C
& e 3 & 14 1 B U & 3 3t X Fhar
&1 ST 3 JeThr GBI T AT &

(4)2:4:1 (B)2:1:4

19

©4:2:] (D)1:2:4

141, If 5 tan A = 4, then the value of
3sin A -3cosA .
- 1is
sin A + 2cosA

Ssin A—3cosA @ E
) 5sin A—3cosA
I Stan A=4% G A+ 2cosA
(A) /6 (B) 7/9
© 9/14 (D) 5/14

exe ute
142, If Jin 2 0—3sin O+1= 0,0 being positive ac
angle, then the values of g are

ar
A 25in 20 —3sim e+1=o.eﬂ?r?“!?”ﬂ":‘“Tg

OF AR Y
(A) 60°, 45° (B) 30°, 90°
(C) 60°, 55° (D) 45°, 50°

143. The length of two parallel chords of a cir?lc otf_
radius 5 cm are 6 cm and 8 cm in the same side 0
the centre. The distance between them is

5 em FIST a1 v et i @Y wHER Shar
AHIE &% & WA aRd F 6 cm 3R 8 cm ¥

ECCE I BEIEcinS
(A) 1.5¢cm (B)3cm
(©)1cm (D)2 cm

144. Divide 27 into two parts so that § times the first and

11 times the second together equals to 195, Then
ratio of the first and second parts is

27a=‘ra’mnﬁﬁ3amﬁwﬁaa#iﬁ:qm
mﬂswm@immnwm

et 195 a?ams'f,a’r%ﬁamqa’rmw
T &

(A)2:7 (B)3:2

(©)17:10 (D)5:4
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After deducting @ commission of 5%, a T.V. scl
costs 9,595, Its marked price is

50 T FHNUA HIEH F WA, v A JT H
7T 19,595 B Fqa R I R
(A) 210,000 (B) 210,074.75

145,

(€) 210,100 (D) 212,000

146. Ram, Rahim and Robert started a partnership
business investing ¥30,000, ¥50,000 and 40,000
respectively. 1f they made an annual profit of
718.504, then the share of Rahim is

A, W HR WG & waAen: 230,000, 350,000 HR
240,000 T AR FF T FHEHT FRIFR HH
fFar| af 3o 218,504 T arfifer @mT g3, o
ELCEGGE RS

(A) 37,170 (B) 7,510

(€) 27,710 (D) 7,010

147. A right prism has triangular base. If v be the
number of vertices, e be the number of edges and f
be the number of faces of the prism. The value of

v+e—f |
is
~

T o OH 1 PR IR g1 afg v A
& ot &y wwa, e FRY r wear AR £ ot A

; ' +e—f
e, ar - : FIAFE
(A) 10 (B) 4
(©)2 (D)5
148. 1
The sum of and is
x+y x=y
1 |
x+y X =y EFTE’I?T%
(A) -2y (B) 2x
p] - 3
X -y v -x
€ 2x D) 2y
J 3 i I )
f ._}r x- —Y-

149. A bag contains coins of 21,
theratio 2 : 3 : 5. If the 10

1228, then the number of
was

W#‘Tﬂzl,sotﬁaﬁtzs 4y %
& I ¥ 1 AR 3 vt 3
&, o 39 9T Y 50 4 F Rpay
(A) 144

50 Pﬁisc and .

tal value °f1he Pal}ﬁn

50 pai . o5 Cojp
paise coins i thatn: ;

23,
8

T my,
Raby O
(B) 124

(C) 112 (D) 96

lSO.lf‘x - 2: y 1 and 2z
X +y +2° —3xyz is equal to
A A T
X +y +z° —3xz ﬁ»‘ﬂﬂ?a'{ﬁr(a-)
(A)0 (B)8

=3, lhen

©)6 (D)2
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PART-1V : GENERAL AWA

WA ST RENESS (smrqy |

151. When did India bec
¢ 0
Democratic Republic? o Ay Sovereign

HRA ?mmﬁawmw
(A) 26 November, 1951
26 AGFET 1951

(B) 26" November, 193¢
26 FFFEYL 1930

(C) 26" January, 1949
26 ST=Ta{Y 1949

D) 26" November, 1949
26 FaFaT 1949

152, The hard enamel layer of teeth is
aclt 1 FOR ool R Bl
(A) Calcium hydroxide
Hiowa= ersgrrames
(B) Calcium phosphate
HicHaT Biehe
(C) Calcium oxide
Hioag# sifearEs
(D) Calcium hydroxy apatite
HicaT grEgad tese
153. The two components of an eco-system are
gt aT Far aeam A E?

(A) Plants and animals

qtey R sha

(B) Biotic and abiotic

sifas AR afas

(C) Plants and light
aier % wemrer

(D) Weeds and micro—organisms

WYAER 3R GEAsTa

154. The most stable measure of central tendency is

F2ra vafea & FaS R AT F16?
(A) Mean (B) Mode
A W

(C) Median (D) Range
ATeTH
islativc
155, According 1o which Anicle, Stat€ Lk
Council can be created or abolishe aﬂ‘\‘g
he arefede & e, T faur LISLS
1 FATS Y S TFHA 7
(A) Article 168 (B) Article 16;96 .
e 168 I
(C) Article 167 (D) Article l’if-’m
3"3_'-& 167 3{:1_»{’5&
156. Of the following Rapeseed belong_s.to
Yeie PR # % ey Hefed A 7
(A) Pepper / i (B) Linseed / 370
(©) Mustard / gt (D) Coffee / BT

157. The resistance of an ideal voltmeter is

3Tee) AreeHieT A SRRTRET e er 67
(A) infinite / 30T (B) high / 3=

(©) zero / T (D) jow / ¥

158. An electronic path, that sends signals from one part
of computer to another is

FFE & T 9T & gE ST 3 e fore

Tl S Teieh T I &1 6l 67
(A) Logic Gate (B) Serial Port
o I W @
(C) Modem (D) Bus
HiEA Lol
159, Television was invented by
T o1 anTashR foRee feRar am
(A) J.L.Baird
EACA D
(B) R.A.Millikan
HRU. Heelihst
(C) LOUIS Braﬂle (D) Lawrence

S aw e
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